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Corporate Tax Planning
Group - A
1. Answer any five of the following questions : 2x5=10
(a) Why tax is imposed?
(b) Mention any two importance of tax planning.
(c) What is tax evasion?
(d) What do you mean by double taxation relief?
(¢) How tax planning is associated with the location of the entity?
(f) What is advance price agreement?

(g) K Ltd. declares a stock dividend to its shareholders of 10,000 shares. The fair value




(2)

of stock is Rs. 5 and its par value is Re. 1. How much would be the amount of
stock dividend?

(h) What do you mean by demerger?
Group - B
2. Answer any four of the following questions : 5x4=20
(a) Distinguish between Tax Planning and Tax Management.

(b) ABC Ltd. owns an industrial undertaking in a notified special economic zone. It
started manufacturing since 10% April, 2005. How much amount of deduction it
can claim as per u/s 10A and 10AA.

(c) Explain the tax considerations with respect to sale of assets used for scientific
research.

(d) Ranu Ltd. is in the business of manufacturing jeans. For the assessment year 2021-
22, it paid tax @15% on its book profit computed as per u/s 115JB. The Assessing
Officer wants to charge interest as per u/s 234B and 234C as no advance tax
was paid during financial year 2020-21. Give your opinion on proposed levy of
interest.

(e) Describe tax advantages for an amalgamating company.

(f) A Ltd. Charged depreciation on its fixed assets at the rate prescribed in the income
tax rule. However, the Assessing Officer disallowed the same and allowed the rate
as prescribed in the Companies Act, 2013 for the purpose of computation of book
profit u/s 115JB for the previous year 2020-21. Examine the logality of action taken
by the Assessing Officer.

Group - C
3. Answer any three of the following questions : 10x3=30

(a) “The loan capital contributes to tax saving resulting to higher rate of return on
owner’s equity”—Do you agree? Justify your answer with suitable example.

(b) Truth Ltd. is a widely held company. It is currently considering a major expansion
of its production facilities and the following altrnatives are available :

Particulars Alternative-1 Alternative-2 Alternative-3
(Rs.) (Rs.) (Rs.)

Share Capital 10,00,000 20,00,000 50,00,000

14% Debentures 15,00,000 20,00,000

18% Loan form Bank 25,00,000 10,00,000




(3)

Expected rate of return before tax is 30%. Rate of dividend of the company since
2010 has not been less than 22% and date of dividend declaration is 30th June
every year. Corporate tax rate is 30%. Which alternative should the company opt

with reference to tax planning?

(c) What is advance tax? Who are required to pay advance tax? Discuss provisions of

the Act regarding payment of advance tax.

2+2+6

(d) Following is the profit and loss account of Parag Ltd. for the year ended on 31-3-
2021. Compute tax liability of the company.

Particualrs Amount (Rs.) Particulars Amount (Rs.)
To Raw material consumed 20,00,000 | By Sale
To Rent 5,00,000 Export 50,00,000
To Salary & Wages 10,00,000 Demestic 30,00,000
To Depreciation 5,00,000 | By Closing Stock 10,00,000
To Provision for contingencies 75,000
To Wealth Tax of earlier year 50,000
To Loss of subsidiary co. 50,000
To Custom Duty 40,000
To proposed dividend 1,00,000
To Provision for Income tax 1,05,000
To Net Profit 45,80,000
90,00,000 90,00,000
(e) Write short note on : 5+5
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Paper - DSE 3-T
Banking and Insurance

Group - A

1. Answer any five of the following questions :

(@)
(b)
©
(d)
(e)
)
@
(h)

Write any two objectives of commercial banks in India.
Write short notes about statutory protection in due course.
What is the meaning of Crossing and endorsement?

What are the types of banks?

What do you understand by secured advances?

Explain e-payments in banking.

What do you understand by NEFT?

What are the types of business risk?

Group - B

2. Answer any four of the following questions :

(a)
(b)
(©
(d)
(e)
()

Write a note on banker and customer relationships.

Explain in brief the changing role of commercial banks.

How Debit/Credit cards, Smart cards are different from each other?
Explain the types of advances.

Describe the concept of negligence.

Write a note on digital cash.

Group - C

3. Answer any three of the following questions :

(@)
(b)

Discuss the Origin and growth of commercial banks in India.

Discuss the types and rules of crossing.

2x5=10

5x4=20

10x3=30
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(c) Explain the financial Services offered by banks.
(d) Write a note on Principles of sound lending.

(e) Explain the terms (i) Home banking (ii) Mobile banking, (iii) Virtual banking,
(iv) E-payments, (v) ATM Card/Biometric card.
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Group - A
1. Answer any five of the following questions : 2x5=10
(a) What is Cost Management?
(b) Define Budgetary Control.
(c) What do you mean by Functional budget?
(d) What is Standard Cost?
(e) Define Sales Variance.
() What is Break-even Point in Marginal Costing?
(g) State two factors influencing pricing decisions.
(h) What is Transfer Pricing?
Group - B
2. Answer any four of the following questions : 5x4=20
(@) What are the natures of Management Accounting?
(b) How do you distinguish between Budget and Budgetary Control?
(c) What are the limitations of Standard Costing Systerm?
(d) From the following particualrs calculate (1) Material Price Variance, (i1) Material Usage

Or,
Paper - DSE 3-T

Management Accounting

Variance :

Materials Purchased 3,000 units
Value of materials purchased Rs. 9,000
Standard quantity of materials required per tonne of output 30 units
Standard rate of matrials Rs. 2.50 per unit
Opening stock of materials NIL

Closing stock of materials 500 units

Output during the period 80 tonnes
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(e) The Profit Volume Ratio of a Company is 50% and margin of safety is 40%. You are asked
to calculate the net profit and break-even point if sales volume is Rs. 10,00,000.
(f) Write short notes on :
(i)  Zero base Budgeting
(i)  Margin of safety
Group - C
3. Answer any three of the following questions : 10x3=30
(a) Discuss the relationship between Cost accounting and Management accounting in detail.
(b) A company incurs the following expenses to produce 500 units of an article :
Direct Matrial Rs. 30,000
Repairs and Maintenance (15% fixed) Rs. 8,000
Direct Labour Rs. 15,000
Depreciation (40% Variable) Rs. 6,000
Power (20% fixed) Rs. 10,000
Administrative expenses (100% fixed) Rs. 12,000
Prepare a Flexible Budget showing individual expenses of production levels of 1,000 units
and 2000 units.
(¢) From the following information of X Ltd. calculate :
(a) Profit Volume Ratio, (b) Break-even Point, (c) Profit when sales are Rs. 3,60,000, (d
Sales required to earn a Profit of Rs. 30,000
Year Sales Profit
2012 Rs. 2,40,000 Rs. 16,000
2013 Rs. 2,80,000 Rs. 26,000
(d) You are supplied the following information of a manufacturing company :

Product A (Rs.) Product B (Rs.)

Direct Material Cost per unit 24 20
Direct Labour Cost per unit 12 8
Variable Expenses per unit 12

Fixed expenses Rs. 60,000
Selling Price per unit 60 44
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Sales-Mixes :
1) 4,000 units of A and 4,000 units of B
@@ 5,000 units of A and 3,000 units of B

You are to prepare the statement of marginal cost for showing contribution per unit and
to suggest the most profitable product mix. 5+5

() What are the dignificance of Responsibility Accounting? State different Responsibility

Centres. Discuss any one of them in detail. 3+3+4
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